
Best value for money (A): Examiner’s Report
Q1.
 

This question was well attempted by all students and blank responses were rare. 
The most successful students were those who calculated the price per gram for each jar and in almost all cases these students gained all four marks. The second most popular method was to calculate grams per pound, though some of these students lost the communication mark as they failed to realise that the greatest answer was the best value. Other common and equally successful methods were to find the price of 25g or to convert the prices of the 150g and 200g jars to their equivalent 275g price. Weaker students tried to solve the problem by finding the differences between the prices of the jars and gained no marks. Calculation errors were rare but lost of accuracy and careless recording of answers in more complex methods often lead to lost marks.
Q2.
 

Students appeared well-prepared to answer this best value question with over a quarter able to employ a proportional method to reach a fully correct conclusion with supporting evidence. The majority of those who gained full marks calculated the cost per tea bag and where students lost marks for this method it was generally down to premature rounding. Students who calculated quantity per unit price were generally less successful and were on the whole unable to correctly interpret their results, in many cases mistakenly thinking they had calculated price per tea bag. Several students successfully gained one mark through scaling to 125 bags for the small box, but this method did not generally produce a correct overall conclusion.
Q3.
 

Candidates' solutions to this question were generally very good indeed. A variety of approaches were employed usually leading to three results which could be compared. The wrong size of tube was often selected however dependent upon the method chosen. Many candidates had not established whether they were finding ml/p or p/ml and so often made the wrong conclusion. For example, with answers of 39.10..ml/£ (70ml), 36.36..ml/£ (100ml) and 37.59..ml/£ (150ml), the 100ml tube was selected with 36.36...being the lowest value.
Q4.

This was a very well understood question with almost all candidates being able to obtain one mark either for finding out the cost of a computer from Logic or for finding 15% of £359. It was pleasing to see about a third of the candidates being able to work right through the problem and come up with the correct answer of £6.45 though many candidates lost marks either from not being able to work out 15% of 359 or for not taking a correctly worked percentage away from £359. Despite it being a calculator paper, some candidates found 15% by breaking it down into parts. However, most do not show their method and if errors are made will not earn marks; many using this approach had problems with the decimal point. Some candidates quoted 10% as 35 and 5% as £17.50 either because they chose an easier number to work with or had decided to 'round' £359', Even those who found 15% to be £35.90 frequently failed to get a correct value for 5%, probably through premature rounding or truncation. With no evidence that they were trying to halve their £35.90 this gained no marks.

Q5.

Best buy questions are a common visitor to our papers and one would have thought by now these questions would be very well answered. Unfortunately this is not the case; whilst many candidates divided the cost of the tray by the number of plants in the tray they did not write the answer to a sufficient degree of accuracy to differentiate between the cost of one plant for each size of tray. This may be because candidates are 'drilled' into writing monetary values to 2 decimal places rather than looking at the size of their answers. When candidates divided the number of plants by the cost to find the number of plants per pound they often did not understand what they were calculating and stated it was the cost of one plant. However, about a quarter of the candidates were able to give the correct answer from correct working out of comparable results.
Q6.
 

This is quite a standard question but many pupils just left it blank. Some stated they were running out of time and so this may have accounted for why many were blank.

When candidates did attempt the questions the standard of arithmetic was appalling. Some found the difference between the two prices to be 60p, how could this be when one price ends in a 4 and the other in an 8? Others discussed the size of the bottle and whether it would fit in the fridge without doing any calculations at all, others just wrote down a size. As a QWC question both working and a statement was required.

A comparison of equivalent numbers of pints was expected to justify the answer but often 1.18 × 4 and 1.74 × 6 was compared or 8 pints and 12 pints by doubling, the candidates stated this was what they were doing and so showed a total lack of understanding of the required strategy.

There was poor evaluation with Â £1.18 ÷ 4 = 29.2 often seen and 1.74 ÷ 6 = 1.74 ÷ 2 ÷ 2 ÷ 2 was frequently stated. There was an over reliance of halving by many candidates. A simple but effective successful strategy was to find the price of 2 pints from the 4 pint bottle and multiply this by 3 to give a 6 pint comparison, £1.77 was often correctly given.

Q7.

Best-buy questions are a regular visitor to our papers and though the numbers were not straightforward many candidates were able to make a start on the question either by trying to find the number of grams per penny or pence per gram. Many candidates gained two marks by calculating the small and the medium bottle costs for 1710g. As this is a starred question we were strict on the writing of the calculations we would accept for the second and third method marks. The calculations that could lead to comparative figures for two or three bottles all had to be written in either pounds or in pence, not a mixture. For the award of the final communication mark all answers had to be correct and there needed to be a statement of which bottle was the best value for money.

Q8.


It was pleasing to note that most candidates did show their working on this question. There were many ways to work out which pack gave the better value for money but two third of candidates could not provide one of these methods. The most popular method was to work out 4.23 ÷ 9 and 1.96 ÷ 4 which scored 2 marks. Unfortunately arithmetic errors in this division meant that the final mark was lost. The most common totally incorrect method was to work out the cost of 2 packs of 4 rolls and then just provide an answer of 9 pack or 4 pack, neither of which scored. Only 14% of candidates scored all 3 marks with a further 15% scoring 2 marks for a fully correct method with arithmetic errors.

Q9.
 
A good proportion of students found this "best buy" question straightforward and scored full marks. The approach taken was usually either to calculate the number of matches bought for each penny or the cost per match. Some students then misinterpreted their answers and, for example, having worked out the number of matches for each penny, stated that the small box was best value. A significant number of students did not use common units and used 23, 72 and 4.16 as the three costs rather than 23, 72 and 416 or 0.23, 0.72 and 4.16.
 
1MA1 Practice Tests: Best value for money (short A) mark scheme – Version 1.0 

	

	Question
	Working
	Answer
	Mark
	Notes

	1*
	
	
	275g (£7.95) pack with reason
	4
	M1 for one of 439 ÷ 150 (= 2.92), 639 ÷ 200 (= 3.19),            795 ÷ 275 (= 2.89)

OR one of 150 ÷ 439 (= 0.341), 200 ÷ 639 (= 0.31),              275 ÷ 795 (= 0.345)

OR any other calculation that could lead to a comparative figure

M1 for calculations that could lead to comparative figures for   2 jars

M1 for calculations that could lead to comparative figures for   3 jars e.g. all 3 from the above lists

C1 for correct comparative figures for all 3 jars leading to a correctly stated comparison: 275g best value 



	2*
	
	Examples 

£ per bag
2.15 ÷ 50 = 0.043 (4.3) 

3.29 ÷ 80 = 0.0411.. (4.11..) 

5.17 ÷ 125 = 0.0413..(4.13..)

Bags per £ (or p) 

50 ÷ 2.15 = 23.2(5...)

80 ÷ 3.29 = 24. 3(1...) 

125 ÷ 5.17 = 24.1(7...)

Price per 400 bags

S: 2.15 × 8 = 17.2

M: 3.29 × 5 = 16.45

Price per 1000 bags

M: 3.29 × 12.5 = 41.125

L: 5.17 × 8 = 41.36
	Medium
	4
	M1 for division of price by quantity for at least 2 boxes 
or division of quantity by price for at least 2 boxes 
or a complete method to find price of same quantity for at least 2 boxes
or to find quantity of same price applied to at least 2 boxes

M1 for a complete method to give values that can be used for comparison of all 3 boxes.

A1 for correct values that can be used for comparison for all     3 boxes 

C1 ft (dep on M2) for comparison of their values with a correct conclusion.



	3*
	
	179 ÷ 70 = 2.5(571.....)

275 ÷ 100 = 2.7(5)

399 ÷150 = 2.6(66....) 

70 ÷ 179 = 0.39(11....) 

100 ÷ 275 = 0.36(36...)

150 ÷399 = 0.37(59....)


	70 ml tube with reason
	4
	Using pence per ml 

M1 for a correct method of finding the cost per millilitre        (or cost/10 ml etc) for one of the sizes

M1 for a correct method of finding the cost per millilitre        (or cost/10 ml etc. must be consistent) for each of the sizes

A1 for 2.5(571.....) (70 ml) and 2.7(5) (100 ml) and 2.6(66....) (150 ml) or equivalent depending upon units used. These values can be rounded or truncated as long as they remain different

C1 (dep on M1) for selecting the tube with the best value for money based upon a comparison of their 3 values.

Using ml per 1p 

M1 for a correct method of finding the volume per pence (or £) for one of the sizes

M1 for a correct method of finding the volume per pence (or £) for each of the sizes, with consistent units

A1 for 0.39(11....) (70 ml) and 0.36(36...) (100 ml) and 0.37(59....) (150 ml) or equivalent depending upon units used. These values can be rounded or truncated as long as they remain different

C1 (dep on M1) for selecting the tube with the best value for money based upon a comparison of their 3 values.

	4*
	
	
	6.45
	5
	M1 for 110 + 12 × 16.80 (= 311.6) 

M1 for 0.15 × 359 oe (= 53.85)

M1 (dep on previous M1) for 359 – “53.85” oe (= 305.15)

M1 (dep on M3) for “311.6” – “305.15”

A1 for 6.45 from correct working

	5* 


	
	
	Small with correct figures for comparison
	4
	M1 for one calculation e.g. 6.5 ÷ 30 (= 0.216...)                        or 8.95 ÷ 40 (= 0.22375) or 10.99 ÷ 50 (= 0.2198)

M1 for all three calculations e.g. of 6.5 ÷ 30 (= 0.216...)        and 8.95 ÷ 40 (= 0.22375) and 10.99 ÷ 50 (= 0.2198) 

A1 for 0.216... and 0.22375 and 0.2198... can be rounded        or truncated as long as they remain different

C1 (dep on M1) for conclusion ft from three comparable figures [could use different figures relating to 30, 40, 50]

OR

M1 for one calculation e.g.  6.5 × 20 (= 130)                            or 8.95 × 15 (= 134.25) or 10.99 × 12 (= 131.88)

M1 for three calculations e.g.  6.5 × 20 (= 130)                        and 8.95 × 15 (= 134.25) and 10.99 × 12 (= 131.88)

A1 for 130 and 134.25 and 131.88 can be rounded or truncated as long as they remain different

C1 (dep on M1) for conclusion ft from three comparable figures

[or any other calculations leading to comparable figures e.g. cost of 600 plants or comparing small and medium and small and large e.g. 120 plants and 150 plants separately]

OR

M1 for one calculation e.g. 30 ÷ 6.5 (=  4.615…)                     or 40 ÷ 8.95 (= 4.469…) or 50 ÷ 10.99 (= 4.549…)

M1 for three calculations e.g.  30 ÷ 6.5 (= 4.615…)                 and 40 ÷ 8.05 (= 4.469…) and 50 ÷ 10.99 (= 4.549…)

A1 for 4.615… and 4.469…  and 4.549… can be rounded or truncated as long as they remain different

C1 (dep on M1) for conclusion ft from three comparable figures

[or any other calculations leading to comparable figures]

	6*
	
	 1.18 ÷ 4 = 0.295 

 (118 ÷ 4 = 29.5)

 1.74 ÷ 6 = 0.29 

 (174 ÷ 6 = 29)

 1.18 ÷ 2 = 0.59 

 1.74 ÷ 3 = 0.58 

 1.74 × 4 = 6.96

 1.18 × 6 = 7.08

 1.74 × 2 = 3.48

 1.18 × 3 = 3.54

1.18÷2×3=1.77

1.74÷3×2=1.16

4÷1.18=3.3(....)

6÷1.74=3.4(…)
	6 pints


	3


	M1 for division of price by quantity for both bottles or division of quantity by price for both bottles or a complete method to find the price of the same quantity of milk.

A1 for two correct values that could be used for a comparison

C1 ft (dep on M1) for comparison of their values with a correct conclusion.



	7*
	
	342 ÷ 88 = 3.886…

570 ÷ 195 = 2.923… 

1500 ÷ 399 = 3.759…

OR
88 ÷ 342 = 0.257… 

195 ÷ 570 = 0.342…

399 ÷ 1500 = 0.266


	small with correct calculations
	4
	M1 for one of 342 ÷ 88 (= 3.886…), 570 ÷ 195 (= 2.923…), 1500 ÷ 399 (= 3.759…)

or for one of  88 ÷ 342 (= 0.257…), 195 ÷ 570 (= 0.342…),   399 ÷ 1500 (= 0.266)

or any other calculations that could lead to a comparative figure

M1 for calculations that could lead to comparative figures for   2 bottles

M1 for calculations that could lead to comparative figures for    3 bottles e.g. all three from the above list

C1 for three correct comparative figures for all 3 bottles, leading to a correctly stated comparison : small or 342g best value

	8
	
	1,96 × 2.25 = 4.41

OR

4.23 ÷ 9 = 0.47 

1.96 ÷ 4 = 0.49

OR

4.23 × 4 = 16.92

1.96 × 9 = 17.64

OR

4.23 ÷ 9 = 0.47 

0.47 × 4 = 1.88

OR

1.96 ÷ 4 = 0.49

0.49 × 9 = 4.41

OR

9 ÷ 4.23 = 2.12

4 ÷ 1.96 = 2.04
	Pack of 9


	3


	M2 for a fully correct method to enable a conclusion              e.g. 1.96 × 2¼ 

OR

M1 for 4.23 ÷ 9 or 423 ÷ 9 or 0.47 seen or 47 seen

M1 for 1.96 ÷ 4 or 196 ÷ 4 or 0.49 seen or 49 seen

OR

M1 for 4.23 × 4 or 423 × 4 or 16.92 seen or 1692 seen

M1 for 1.96 × 9 or 196 × 9 or 17.64 seen or 1764 seen

OR

M1 for 4.23 ÷ 9 or 423 ÷ 9 or 0.47 seen or 47 seen

M1 for 0.47 × 4 or 47 × 4 or 1.88 seen or 188 seen

OR

M1 for 1.96 ÷ 4 or 196 ÷ 4 or 0.49 seen or 49 seen

M1 for 0.49 × 9 or 49 × 9 or 4.41 seen or 441 seen

OR

M1 for 9 ÷ 4.23 or 2.12(...) seen or 2.13 seen

M1 for 4 ÷ 1.96 or 2.04(...) seen    

A1 for Pack of 9 and fully correct calculations

NOTE: B0 for an answer of 9 not supported by working.

	9*
	
	
	Medium
	4
	M1 for 52 ÷ 23 (= 2.26…) or 170 ÷ 72 (= 2.36...)                     or 960 ÷ 416 (= 2.30…)                                                              or 23 ÷ 52 (= 0.44...) or 72 ÷ 170 (= 0.42...)                              or 416 ÷ 960 (= 0.43...)

M1 for 52 ÷ 23 (= 2.26…) and 170 ÷ 72 (= 2.36...)                           and  960 ÷ 416 (= 2.3…)  

OR 23 ÷ 52 (= 0.44...) and 72 ÷ 170 (= 0.42...)                         and 416 ÷ 960 (= 0.43...)

A1 for 2.26… and 2.36…and 2.3…  OR 0.44... and 0.42...    and 0.43...

C1 (dep on M1) for conclusion ft from three comparable figures

[could use different figures relating to the three boxes]


National performance data from Results Plus

	
	Original source of questions
	
	
	
	
	Mean score of students achieving grade:

	Qu
	Spec
	Paper
	Session
YYMM
	Qu
	Topic
	Max score
	Mean % all
	Mean

ALL
	A*
	A
	B
	C
	D
	E
	F
	G
	U

	1
	2MB01
	3H
	1506
	Q04
	Ratio
	4
	89
	3.56
	3.96
	3.89
	3.79
	3.60
	3.09
	2.31
	
	
	0.00

	2
	2MB01
	3F/3H
	1406
	Q04
	Ratio
	4
	88
	3.50
	3.95
	3.91
	3.75
	3.50
	2.57
	1.25
	0.59
	0.25
	0.08

	3
	2MB01
	3H
	1311
	Q8
	Ratio
	4
	87
	3.47
	3.93
	3.82
	3.62
	3.34
	2.56
	1.21
	0.63
	0.00
	1.50

	4
	1MA0
	2F
	1311
	Q25
	Money calculations
	5
	55
	2.73
	
	
	
	4.49
	3.67
	2.21
	0.88
	0.33
	0.08

	5
	1MA0
	2F/2H
	1311
	Q07
	Ratio
	4
	68
	2.70
	3.88
	3.71
	3.36
	2.95
	2.07
	1.26
	0.65
	0.30
	0.07

	6
	1MA0
	1F/1H
	1406
	Q10
	Ratio
	3
	68
	2.05
	2.85
	2.65
	2.38
	1.95
	1.39
	0.87
	0.44
	0.18
	0.05

	7
	2MB01
	3F/3H
	1306
	Q9
	Ratio
	4
	80
	3.19
	3.87
	3.69
	3.36
	2.34
	1.26
	0.57
	0.27
	0.09
	0.03

	8
	1MA0
	1F
	1206
	Q19
	Ratio
	3
	27
	0.81
	
	
	
	1.73
	1.00
	0.51
	0.20
	0.08
	0.02

	9
	2MB01
	3H
	1411
	Q02
	Ratio
	4
	64
	2.57
	4.00
	3.55
	3.50
	1.96
	1.83
	1.00
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